wolid CheckSector (void) {
switch (currentSector) f{
case SECTCR1:
if (FLAGS.direction == CCW) {
SectDMA (&FPWM 1, &PWM 5, ZPWM 3);
} else if (FLAGS.direction = CW) {
SetDML (&PWHM 3, &PWM 5, &PWM 1)

}
break;
case SECTCRZ:
if (FLAGS.direction = CCW) {
SetDMA (&PWM 2, ZPWM &, ZPWM 4);

}
else if (FLAGS.direction

SetDMA (sPWM 2, &PWM 4, &PWM 6):

== CW) {

}
break:
case SECTCE3:
if (FLAGS.direction = CCW) {
SetDMA (&PWM 3, &ZPWM 1, ZPWM 5);
} else if (FLAGS.direction = CW) {
SetDMn (&PWH 1, &PWM 3, &PWM 5):;

}
break:;
case SECTCR4:
if (FLAGS.direction = CCW) {
SetDMA (&PWM 4, &PWM 2, ZPWM &) :;
} else if (FLAGS.direction == CW) {

SetDMA (sPWM 6, &PWM 2, &PWM 4);

}
break:;
case SECTCRS:
if (FLAGS.direction = CCW) {
SetDML (&PWM 5, &PWM 3, &PWM 1)
} else if (FLAGS.direction == CW) {
SetDMA (&FPWM 5, &PWM 1, ZPWM 3);

}
break:
case SECTCRG:
if (FLAGS.direction == CCW) {
SetDMA (&PWH &6, &PWM 4, &PWM 2);
} else if (FLAGS.direction == CW) {
SetDMA (&PWM 4, ZPWM &, ZPWM 2);
}
break:
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